BP-541

NAN CHIAU PRJMARY SCHOOL
END YEAR EXAMINATION
2024
B-O."KLET A

Name!lndexno q,ug | | e )

Class: Primary 4

Date: | 21 -Qetoher“zozér

o
Booklets A ahd B {1 h 45 min

Bosklet A » L 56 |

Marks BookletB | ",

‘Total P 100

Parent's Signature

Instrictions. 1. Do not tum over s page uniit you are foid fo do 80:
fostudents 2.  Followall Instructions carefully.
3. Answer alf questions.
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For eath:guestion, four options are given. Otie. of them is the correct answer. Make your
choice {1,2, 3 or 4y and shade your:answer on the Optical Answer Sheet. »
: [58 marks]

1,  ‘The diagram below shows a buttetfly found in a garden.

‘Which statement is not trile about the butterfly?

(1) Ktcangrow.
(2) 4carimove.
(3) Itean repreduce.
(4) Itcari make food.

2. Thediagram shows the life ¢yele of-aplant.

Vithat is the stage marked 27

(1) egg
(2) seed
(3) adoitplant {2)
(4) young plant )
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3 Which organ $§ystém s shown, i the diagram helow?

(1) skeletal systein

{2) muscular system:
{3) circulatory system
(4) respiratory system.

4. Which of the foltowing is-a correct:fantton:of the:root?

(1) takes inaitfor the plant
(2) keeps the plantupright
(3) makes food for the plant
{4) holds the planit firmly to the soil




5.

6..

The diagrain below shoiws.a plant:

The leafhelps the plantto _

{1} makefopd
2) growupright
(3) take:inwater
(4) take:in mineral salts:

VWhich: ofie of the following Is niot a-source of heat?
® . @

a fight bulb ™™

@ @

awoolien cap
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The diagraimi shows 2 keiife: -

blade

Metalis used 1o make the blade-of 4 knife becsiise metal

(1) Gari réfléet light

(2) does riof break easily

(3} can bend without breaking

(4) does hot allow iight fo pass thibigh

Which of the following propertiss is true for both alr and a pen?

(1) They can be seen,

(2) They occiapy space.

(3) They have fixed shapes:
(4) They have fixed volurnes,

Object M was atfracted to a mragnet as stiown iy the diagram below,

Object M could betindeof

(1) o
(2) woed
(3) plastic
{4y ceramic
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10. Look atthe picture below.

\Which one of the following explains why Susan can see the'table?

s direction of light

(1)

@

)
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11, The fable below shows the amount of undigestet food as it exits various pants éfthe

12.

ﬂige"stiv,é;s‘ysfe‘rﬁ.

[ Parfofthe | Amountof andigested Tood 3s ot
il 90
X .. 50

One of the parts above is the stomach. Which part W, X, Y or Z could it ba?

 w
@y X
3 Y
% Z

Joe wanted tofind out how the: presence of leaves affect the amount of water taken i
by the plants. He prepared two sefups. X and Y using the same type of plant as shown
below. ' '

His teacher commenitad that he needed to fiaks one.change to ensure &4l fest:
Which one ofthe Tollowing changes should he make?

(1) Remiove all ths roots fri thie plant hsetipy.

(2) Remove all the leaves from the plant in setup X,

(3)  Place setup X in e dark and s2tip ¥ i the garden

(4) Replace the plant in sstup Y with one fhiat has flowers.

BP~547




43,  Kaiewantsd tobuild a model of the human digestive system as showr: below. She
needed to choosé a sifitable material with a function similar to part.P.

partP

$he ek iip ah experiment to study two different materials C and D. She hung similar
sized sirips of each material on a stand and dipped.ons:end of both strips in water.

After 10-mibutss, $he observed the resulfs as shown below.

[ Key:
L] ey
. wet

Based 'on the results above, which pne of the followirig shows the comect reason why:

the material is miore stitable o make part P of the hurmari digestive system?

Material Reaspn\

] © | Matersl Cabsorbewater.
@ b Material Dabsorbs water. o
Tay| | D | Material Diswaterproof.

| Matedal C Is waterproof.

7
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14 Mindy warited to find ouit hiow strrounding temperature affects the height of the plant:
Using the same type of piant, M indy placed sefup P by the wiridow SFaroom with no

airsonditioner while sefup Q by the window of 2 roees it air-conditioner switched o,

setup P setup Q
{he air {with-air

canditioner) conditioher
switched on)

He measured the helght of eaéh plant over 14 days.and recorded the results as
shown, '

Height of plant (m)
_ Py | setpP | Sempa |
T

11 11 :
I

17 13

Based on:the information above, Mindy could coriclude that _

(1) plarits with more leaves would grow taller

(2) the higher the temperature; the tatler the plantgrew __
(3) the higher the temperature, the slower the plant-can make food
{4) the surrounding temperature does not affectthe height of the plant
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45, Fourchiliren made some statements about matier.
" Watteroccupies | Y ( onlylving things | L/
 space:  are ratter.

_ '_ ﬁ N
Voltma s A heavier obje

Ak | occupies more
mieasured in grams | space
_and Kilograims. N

Whose statemant(s) is/are not correct?

(1} Arna only

(2) Anna-and Danny only

(3y Belle apnd Chad only

(4) Belié; Chad and Danny only

16, The diagrams below show two objects M and N placed in a feasuring cylinder
containiing 40 cm? of watet. The final water level after obiject M Is removed is shown
bElow;

5

i

(100 cm®

object M
removed

ERE

objgct M|

water=-4_ ¥

dbjectN f_;- object NIy~

Wiiieh of the-fdnawi-rig';éﬁﬁws‘ the comect volumes of objects M and N7

|
I T O

11

[ Volume ofcbiectM | Volume of abject N
Fen | T | 10em
| & Zﬁcmﬁ morethanWem?‘
(35 uxﬁme;ﬂnaﬁ 20 om?® 10 em’3 ‘.
@]  moremanz0om® | morsthen 100

5
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17, The thres corfainers shown beiow have differant volimes. 301 & of substance Q is
found te'bs ableto otcupy all the.space In each contairier fully.

wem® |

Based on: the Information abiove, what can be concluded about the volume and shape
of substance Q7

| Volume Shape
W e | " red
; {2) fixed notfixed
3|  notfixed fixed
@]  motbed | noted

10
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18. The fable below describes fouf rings A, B, G and D

“Ring | Desoription
A | Eesmame

It sa magnet.

B
e - If Is made o\"a magnetic materlal
D | iti is made of & non-magnetic| matenai

Baged on ths information-abiove, whish one of the-followifig is définitely correct?

® B @ ~
0 L

T A

To» o w

) (4)

J

11



19:  Henry ohserved four setupsP, Q,

_ _ oeiups F, Qy R.and S.as shown below. Identical steel chips and
Irott nails were used i 4li Settps. The number of stoel chips attracted by edch
magnetised nail is shown below.

boxes with batteries

;gu_;;§0’rf tiiddan iiside

steel-chips _g‘_laé's‘ tiay

Based on the information abovie, which ore 5f the Tollowiniy statements can be
ronciuded from this experiment?

{1) Setup Q has the most number of batteries.
{2) SetupiSihastheilsastits: fibatieries. _
(3} Both setups P and S have the same number of batteries,

{4) Both sefups Q afid R have the.same number of bafteries.

12
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20, Feng Ming set upan experimént as showh below la measure the amount of light.

refieicted from four materials W, X, Y and Z. A fight sehsor connecled to a datalogder

was used to measiire the amouit.of light reflected by each material,

torch £

light sensor

coniected to — Zegh §
a datalogger

mateiial

— dark room

He vecorded the reading
afvoant of fight detected.

ngs in the fable befow, A greater reading shows a greater

Material

“Heading on datalogger (unis)

150

55

X
Y

e

300

Based of the results:above, which of the following materials W, X, Y or Z is ost
snitable to make the wordings on the road sign as shown betow?

wordings on E TS |
the road sign L

@ X

@3 ¥
@ Z

18
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21. * Paul sonducted ah sxperiment with cardbosrd shapas using the satup below,

The dimensioris of both shapes A and B are shown below,

{2'j e

TBem I%:.zcm

10cm >

Which shadow would Paul see on fie sereen?

h e

®) @

H

BP~555
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52, Janelle placed aJit torch at point P of a ruler. She shohe thié forch ona wooden ebject
that wag piaced st point R, A shadow. of the object was cast 0 n:the $efééh at point T.

screen

wioaden object

fif torch.

table..___

s T iuler

Withouit changing the-position of the torch, which ene of the following Would result in
the largest shadow formed on the screen?

) move thé objectte:Q
{2) movethe objectta 5
(3y moveobjectio Q andscrespto R
(4) move the scréén to R dnd objectto. T

15



23, The diagram below shows. & tan walking on & strest at night from pasitiof A ta position
D.

24.

} I
I I}

c D
Atwhich of these positions would the shadow.of the man be the shortest?

(1 A
2 B
@ ¢
“ D

JOy poured some cold water into a glass: She then held the glass of water immed iately
after pouring. . :

glass

cold water «_

Based on the informztion above, Joy’s hand felt cold because Her hand e

{1) lost heattothe glass

(2} gainéd hieat from the glass
(3} gained heat from the water
4) ,lps,tiiheat;iﬁ;t’he.ﬁurraun'dihg' air

- 4B
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25.

Wita st Up the expedment showin below. The four rods A, B, € afid D are made of

different materfals but of the same lergth and thickness. At the end of éath rod, an

identical thupnbtagk was aftached te-each rod using the same Aot of wax. Wax

N - . P

would melt whien if gained heat, causing the thumbtack on each rod to drop:

thumbtagk

tray

The fime taken for each {humbtack o drop was recorded below.

himbtack onrod | Time taken for tambtack to drop (min)
A 5
| 12

2

B
D

Based on the information above, fia goncluded that red
(1) A s definitely made of plastie

(2) Blisthe best conductor of heat

{3) Cs apoorer conductor of heatthan B

(4) Dis a betferconductorof heat than A

17
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26

Roy placed 4 tigy of fiot cake at 90°C o & table at & foom temperatiite of 50°C..
Which one of the-following shows the. correct:graph of the temperature of cake fora
period of & hours? . ‘

1y N @)

P

o e min I
@) @)
; famg:terﬁtgf{a.

ey |

0 time(min}

18
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28.

Adrop of ink s placed in 3 glass tube corinecting tWwo similar bealers Aand B as
shown below: Each flask Is placed in‘a beaker of water,
' _— glass tube

diop of ink

beaksr B

VWhich ore. of the following would eatise the drop of ink to move tawards beaker A7

(1) puitice in beaker B ]
(2) putics in both beakers

(3) heatup the waterin beakerB

{4) heat up the water in both beakers

The dlagran befow shows three similar setups L, M and N heated by different number
ofheat sources. They contained the same amount &f watet at 30°C at the starl

f__. ... water
oo

~ ligat source

setup L selupM setup N

Based on the information above; which one of the following statements ¢ corect?

£1) Thewaterin setup L would boll first,

{2) Thewater in setdp M'would boil before setup L.

3) Thawater in'setup N gained heat from the heat source the slowest.

(4) Atthe startof the experiment; the water in sefup N had the mest amount of heat.

End of Booklet A

18
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Por questions 26 to 41, wiits your anewers i his bonidet, -
The numbier of marks available fs shown in [ J at the end of esch question or parf question,

[44 marks]

29. The diagranm below shows & photo frame.

Fiit in the blanks using the correct words in the box.

h‘eét h beﬂds ) breaks

Part Y of the pfisto frafiie is made of __ o because i

alows = o pass through o that thie person can ses the

picture. However, partY'_ i .easlly when dropped, [

2 . SCORE |
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30. Glassiy fhe following into matter-and fion-mattet.

[t Jght - shadow

‘Matter , 3 Non-matter :' ;3

31. Two magnets are placed togetheras shown below.

i
L a3

I PN
o

..:B

2 . Y
7 7
magtiet 1 magnet'’Z

The otth pole of magnet 1 is labelled N.
Name the poles labsiled Aand B on magnet 2, 2

o A

i B
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32. Look at the piotures, Tick {v) the sources of light. 2]

} the Sun ] i

eyes

4 | SCORE
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33, Read the statsimenis in-the fable below carefully. |
Fill in the boxes with *T" i it i truie or"F” f it Is false. , [21

[Shtoment TiE

® | Fungl can be useful or harmful to us.

) | pasteria and mould are:some examples of fungh

@iy | A fuingi are microorganisims.

Gv) | Allbacteria are hamful.

5 T SCORE




34. The table balow shiows the chiaracteristics of thtee animals F, Gand H,

Characteristic

Animal

F

The adult can fly.

yes

ho

| The young locks like the adult,

yos

| The adult has: three body parts,

no

no

| The adult has six lsgs,

no

no:

| Thie aguit Taye edgs,

Ao

fio

(8) Based onthe characterisfis of Insac

would most ikely tepresent

fs and the table above, which animat F.GorH
a mosguito? Explairi Why,

(b) Based onths table abovs, can animal Tepresent a frég? Explain your answer, -

[2]

12}
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< support

partA

(aj Based on the diagram above; state the characteristic. of part A, Tl

Celesle eondicted an :exper%nieﬁt with two similar plants X andY. Only the roofs of
plant Y werewrapped in a plastic bag as shown below.

Celaste placed both plants in the: garden and watered them daily with the same
amount of water,

. plastic bag
e 50

plant X plant Y
(b} Geleste noticed that plant ¥ died after 2 waek. Explain why. (1]

Please sontinue question 35 on the next page.
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() Explainwhy Celests placed both plants:X and ¥ in the-garden to shsure a fairtest. {1

Celests prepared ariother setub sjng plant Z 4s shown below: She: painted all the
leaves black,

« painted biack

plantZ

() Celeste noticed that plant Z died aftera week. Explain why. !

8 SCORE |




36, T put 10 unifs of food into his mouth. and chawed it for 40 seconds before:
swallowing Tt. The gigph Below shows the amount of digested food in Tim's Hiouth,

amaufit of
digested 4
food (units) , |

—— —> {ime taken to chew
0 70} 40 food (s):

(a) State what gigestion js. 1

{6} Based on the graph above, state the. relatiohship between the amount of digested
food and the tife taken for him to chew the food. [

Pleast contintie question 36 on the next pagde.
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) Tim fookanothier 16 unifs oFfoad and cutit info smaller pleces heforé pufting it ints
tils mouth. He:chawed the food. for 40 secoiids before swallowing it.

Based on the Information and tie graph abov, state whather ffia atnountof digested
food In his mouth after 40 saconds: wouid be more or less than. 3 unjts,
Explain: your answet. i

10 B




7. Asifcartied out an experifient to fiid out

(@)

Fthe type of Wood used would. affect the
strength of the wooden plank as: shown:below. He: placed jdentical blocks; oné ata

time, o wooden plank A untll it Broke.

P PILRPOPIE

blocks { g

A AN R0 %~ wooden plank A
supports

He repeated this experiment with {hres ofifer types of wooden planks B,CandD.
He ratorded the number of Blocks that each weoden plank was able o hold before it
broke: and presented his. results.on the graph befow,

number of blocks: |
whiich thé wooden; |
plank coufd hold, |
before breaking |

woeden planks

Puta tick (¥ in fhie box(es) below, to indicaie the yariable(s) that Arif mustkeep the:
same to ensure a fair test. 141

| variabre " | To be kept the same

_"-T'ypés af‘-wém used

“Thickness of each Wooden plank

please continye question 37 on the hext page.

11
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(c)

BP-~573

Aif wanted fo miake a surfboard to surf at sea as shown below.

. Sga'waves

Based on the results of Arif's experiment, which plankA, B, € or Iy would be fmost
suitable fo make the surfboard? Explain your answer. 1

Besides the property of the wooden plank tested i Arifs experiment as well asbelng

‘ablle to float oh water, state two other properties which the wobden plank must haye

1o make.the surfboard. 7]

{iy

2 SCORE
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48, ‘Samantha pliced a furielat the miouth of bottle P as shown below. She then poured
500 miof off from: a jug into boRle P

fannel -

(a) Samaritha observed thiat the ol flowed into bottle Pvery slowly and then stopped -
fipwing after-some time, Explain her observation. 12

(b) Using the same apparatus and withoat breaking bottie P, what could Samantha doto
mriaka the oll flow faster into the bottle? [1}

Please continue guestion 38 on the hext page.

13



Samantha filled a vase with water up to level L Befofe puitting i sore stalks of
flowers,

level L

vase

(6) When Samantha placed & bouguet of flowers In the vase, the water overflowed,
Glve & reasbh why the water overflowed.

BP~575
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39. Emma made a game using the objécts shiowri below. One pole of magnet P was
brotight close: fo gach of the two. bars A and B,

 magnet P

pias‘ﬁcﬂ holders
fay Magnet P could pick up both bars Aand B. Emma was told that enly one of the two
bais I8 a raghet.

Without addmg any additional object td the game; what could: Emma do-te determine
whether bar B is a magnet? [2]

Plastic holders instead of sie! holders were used in the game..

BP-576

&) Give a reason why stesl holders were not used in‘this game. [2]
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3

40. Lisasetup an experiment by placing a.glass botlle eontaitiing water af 86°C into the

container. She also. placed material A in the container-as shown below.

thermometer

-tiigterial A

-water at 80°CG

She recorded the fittie taken for the termperature of the water in the glass bottle to
drop t0'80°C. She repeated the experiment by using two different materials B arg e,

ot at a titme. Hef results ara shiown bélow,

_Malerial | Time taken for water fo drop to 60°C (miny |
A . g —
T D 15

{a) \Which, of #fie threa materials A, B or C is the best conductor of heat? Explain why, 12

() Lisa wants to make gloves that can bs used o hold the hot baking tray from the ovisty,
Based on her-experiment, which, of the matgrials A, B-ar Cshould she use? .
Give a reason for your choice. 2

" SCORE
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41. Benwarited {otestthe transparency of materials: He carried outan ’_e'}(peﬁme_n‘l_ below
in a dark room. He-arranged four sheets A, B, C and Das shown bslow.

rectanglilar hole s
fit torchs,

sheeth  sheet®  sheetC sheelD

When the torch js switchied on, 4 bright rectangular patch of light i§ seen on sheet C
only..

(a) Whywas Be riotabig 1o see the bright rectangular patch of light on shest D? (%)

(b) When sheet G was removed, the bright rectangular patch was still not:seen on sheet
D. What conld Ban conelude about the fransparency of sheet D? N

Plesise sontinue question 41 on the next page.

17



(&) Explain why the experiment was conducfed iri.a dark roors.

() Jdentlfy onevariable that Ben had fo keepthe samie:to snsure a fairtest.

End of Paper
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SCORE |
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Booklet B,(Answer Key)

Nars: R, 4 ) Class:_

Clglass,
1 light
T breaks

30

Matfer Non-mattsr

L ®Tjight
Thghadow

31

n A tCiNorth“‘" |
fiy  BrITSouth

32

1 The Sun
1€} Larnp

o [cl True
@ 19 False
i) ICl Falss
{v) [CIFalse

" 34(a)

eI, (5 K8 |} hras adul with s body parts just like a mosquito. 29 =21 H has,

sik Jegs just like an insect.

{b)

ETRo. B The young of G looks:iks the adult but ¥ the young of a frog does not Iook.

like thie siduilt.
B2 G doss-not lay egg in water bot R4 the frogilays eggs i water.

"35@)

"TTWeak sten,

b))

¥1The roots were wrapped in 4 plastic bag.,l“l'[he roots could:-not.absorb: water». -

| @]

1 This is.to ehsure that X and Y. could receive the same amount of ‘sunlight,

(@)

EiThe leaves were pamied black, U1 his leaves could niot rap light P4 to make food.

[ 38GET

T Digastion 1S the breaking.own: of jo6d Inio simple substances.

®

T As 5 fife 1eken 1o chew tha fand looreases, he amount of digested food also.
Increases.

BP-582



BP-583

Thiknase of adch Wood, e’ plank v

{b] | F1Plank B, I coid hold the graatest rmbar of Biodis before breaking. W& is the
strongest material.

(c} T @) EUNoffiexible.
iy A Waterproof.

"3B(a) | T The air in the bollls veaupies spass, FPLAT Th 1o Botis Sodld i be edtnpressed
any further;

[ (b} *ILift the funnet up when pouring.

O 1 The flowers occupy spacs. P Thers 1s rof snough spacs TS vase——

‘ ;'39'{3) ©L Brmg the South pole ofmagnet P close to the same end of bar B, B ifthe miagnet
is repelled, barBis a magnet,.

(b) | P Steel is magnetic. P It7s wof used 56 hat e magnet would hot atiract the Steel
holders. '

40(a) © Material C; M With C, thie walrtook the shortest lims for the temperafure of water |
’ to drop to. 607C, IR Heat is-transferred from the water 16 c the fastest,

(b) FTMatetial B: ETWith B, the water took. the Iangest time for the temperatire fo drop to
{B0°C, M8 I8 the pogrest conducior of hest.

I"41(z) | R Sheet G does notallow fight s pass through,

®) :IRJ:Sﬁéét'-éthW“s mostlight 6 pass through,

g} ElThis s tq<ensur& that there:is ohly ohe light Source, wmch is tl'ie lit forch,

(d)| 7 Same torch Used,

End of answer key
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